1 1 BITEFERMNAMHIIEHAPFER EEBRT 16:30. 522 T4 16:45

T =
ElIE B K 7% BB[ 2 o s o m|E T @@ |#E menE % =
XAEES/ XL &) IS
1[N s I [ %[ %[ x[=2] x B | x| x| 1525 x 15:25
=B/ AL R K5 F T T (2%F) 0|00 ]0]O] X
2 |k T5 |O|O|O|O O] x B|#| 5| 1430 | O | 1645
ololololo]x
XiEDH
3| K o)
XL (F R/ XIEEEBR125F) OC|OJIO|O|O R
4 | & 6 [®) @) B|#|=| 1555 | O | 16:45
olololololo
5% (e}
6 | H o
BEMREL 0lO0JO[O[O]O
78 76 [0/ O0]O[O[0O]0O B|f@R|E| 1525 | o | 16:45
olololololo
SJ\E%ZE—%ﬁﬁiﬂy%ZHEﬁﬁﬁbl 6 8 9 9 9 8 8 o 1530 | & | 1645
Nl= ==, Hahis BR| x X : :
TATITI—HEIRECHE) 5toloToltolo
EREREA O]O0]O]O0]0] x
9 |k . 5 [00/ 00 0 x B|#| = 1455 | x |BETR
ololololo]lx
3EEEATAK O[0]O[OTO[O
10| K 6 [ololololo]o B|fR|&| 1555 | O | 16:45 |XEHTFRk
HERRPEE T/ ENDERTES ololO0[O]O]O
11| & T6 |O]O[O|O|O|O B|#®|&| 1525 | O | 16:45
olololololo
HERRERBAS(34F)/ IR EIEQE)/ T AL RER A1 A2| A3| R4| # KA TETHIAL13:05-14:
PIES et ; 5 [ee e e = B x| x| 1405 | O | 1630 [AEHBMAE D0
A1l A2 A3 A4 X - -
13| B o)
=K
14| B # X
BEA 0lOlOl0O[0O]0O
15 k| 6 [ololo[o[0]0O B|f®|&| 1555 | x |BETH
olololololo
0lO0]O00]0O]x
16 | /K T5 |00 O[O | O] x B| x| x| 1405 | x |BETK
olololol o] x
BESE 0lO0]0O]0[0O]0O
17| K [F5= T6 [0l0l0l0l0[0] |=|x|x| 1500 | » |BEFH
ololololo]o
EIGE] O[0]O0[0O[O[O
18l&|" 6 [0lolo[o0[0]0O B || E| 1555 | x |BETFH
Ol0|0lO0]lO|O
19| K x
IR ER{R
20| g | "R x
#RT R w2 E 3[R H 355
21| B 3 [mlE = x| x| x| 1140 | x |BETH| s a0
2 = ; X[ JR55%11:30-:40
HRT R EXNENES %
22| K 3 |m = x| x| 1140 | x  BETHR a0
EARIES LR
B0
23| 7K X
HRTRE | K| @] O] O] x
24| K 5 |#%|# | @] 0|0 x B|O| x| 1440 | x |BETHK
# [ % BK 0 O x
LAHHES FERE) Ol|O[O]O[O] x
25 & =eE 15 [0l0 0010 % |&|x|x| 1405 | x |mz=Ti|xess195228
ololololo] x
26|+ o)
27| B (0]
ANETA—SL(1F) olojCjO @] ®
28| A 6 [ololo[o[0]0O BR[| 5| 1555 | O | 16:45 |1FEAETH—SL
Ol0|lO0lO0]l0O|O
FUO—REARREE OO0 10| x| X BR12:50-13:00
29| K T4 [O]OTOTO] x| x B x| x| 1310 | x |BETE|m)em1200-1
o0lol oo x| x X1JZ Y 5% 13:00-:10
EDELIMEWAHE(14) O[OJO[O]O ]
30| 7K 6 |[O]O0[O|OC|O|# BR|#®| 8| 1555 | O | 16:45 |XEDELIMEWAHE
O/l 0| 0| O[O
P I=[)E 5V a1

121E5MEES 1224583 12/12-15=FBBHE  12/238 %K




